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Math 101 Section 7 Quiz I1(B) (Term 163)
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1. A particle moves according to a law of motion s = f(t) = sin - t > 0, where
t is measured in seconds and s in meters. When is the particle slowing down in the

first 6 seconds?
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Math 101 Section 7 Quiz I1I(B) (Term 163)

2. Find f’(,’z}) if f(iU) — (Sin m)cscz
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3. Find theinst?t_aneous rate of change of f(z) = T with respect to z at & = 2.
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Quiz II(B) (Term 163)
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5. If 22 4+ 4y? = 4 then find y” in its simplest form.
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6. Let f(x) = 5z + 3e™. Then find %h:g.
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8. For t > 0, find % [sm (;—;—3)] in its simplest form.
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Math 101 Section 7 Quiz II(B) (Term 163)

9. If h(z) = 29(z) + f(V/g(x)), and W' (-1) =7, f'(3) = 18, g(=1) = 9,
then find ¢'(—1).
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10. If y = cos (2 In z), then find z?y” + zy’ in its simplest form.
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11. If f(z) = sin (z) 4 cos (z), then find f@2(0) + fV(0)
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13. Find the equation of the tangent line to the curve

=— atx=0.
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14. Find the slope of the tangent line to the graph of y = 23 — logs(z + 1)°at z=1.
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15. If the normal line to the curve z? — zy + y*> = 1 at (1,1) intersects the curve at
another point (a,b), then find a + b.
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